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+ IR M mELnCN SIEEs 100m2 46119.46 - 1.000
+B T RS RN O 10 100m 3735.76 1.000 1.000
+B T RGE X 5 A£50mm X Smm 100m 4886.62 1.000 1.000
B TAEIE
ﬁ"%iﬁ m2
F i % = 13-0075 | 13-0076
e
i . — ot EE IEI _
RRME<I100n | S EE<200m
% i X2 BT # &
+B TR B (m) <60 100m? 35656.23 1.000 1.000
+B e RS ZBEEE (m) <100 100m? 38321.11 1.000 1.000
-+ 70 4 1004 4203.68 1.000 1.000
+T R IR R 1004 1371.41 1.000 1.000
+HE RGNS P10 100m 3735.76 1.000 1.000
+B T RGE X 5 A£50mm X 5mm 100m 4886.62 1.000 1.000
+T R REE (n) <150 100m2 40058.29 - 1.000
+B e RS B (m) <200 100m2 41894 .83 - 1.000
4 EZEARE
ﬁ"%iﬁ m2
SE B i 5 13-0077 13-0078 \ 13-0079
HESZ P A Stk
T H R e
S afE Rl | WA
4 K X2 HA ) % &
+P I HLLE EFRE SRE S BN 100m? 69371.35 1.000 - -
IR TESEE CRIBHE A eE 100m2 71818.02 - 1.000 -
+I RS UIE BAeE s 100m? 66870.72 - - 1.000
+HE RGNS P10 100m 3735.76 1.000 1.000 1.000
+BFE RS0 AN £ F4950mm X 5mm 100m 4886.62 1.000 1.000 1.000
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& i i 5 13-0080
HE 57 33 A
T H Liaik=g-gt
% B Hpy B (L) # &
FURTERE FAME. RRAAE SEeRANE e 100m? 81557.86 1.000
+HiE RGNS P10 100m 3735.76 1.000
+I TR RS AN SE F50mm X 5mm 100m 4886.62 1.000
5. & BIRFEIE
ﬁ"%iﬁ m2
E B 5 13-0081 | 13-0082
B R
Tji H HESHE
[EEE | Rl
E4 K XA HAh ) # &
+HERIRFERS SRR SR E T 100m2 47566.03 1.000 -
HERCERE PR A ST 100m? 46996.45 - 1.000
+HE RGNS P10 100m 3735.76 1.000 1.000
+BH R RS N4 F50mm X 5mm 100m 4886.62 1.000 1.000
TEEA.
& i = 13-0083 13-0084
GELL EL Y€ 5
T H EEEN R
AH AR \ R
4 i Hpy HAf (L) £ &
HERIIAR RS AN AR B 100m? 43818.86 1.000 -
HER PR RS AR AR BN 100m? 50022.66 - 1.000
AN R B IO LAF 22 B bR s e e 100m? 40325.26 - -
+HE RGNS P10 100m 3735.76 1.000 1.000
+[ T RS i X £ AL 50mm X 5mm 100m 4886.62 1.000 1.000
TEEA.
E i ) =5 13-0085
TCHLET 22 2 A b e
Tji H
RN R
E4 B Hpy B O) # &
AN R B IO AF 22 B bR s e e 100m? 40325.26 1.000
+B T RS RN O 10 100m 3735.76 1.000
+I TR RS AN SE F50mm X 5mm 100m 4886.62 1.000
6. RIEMBIE
THERAT. ENE
S i e =5 13-0086 13-0087
T H 7 K B s iy 57 K 37
i B Oom m m2
% i B A O £ B
+I7 KBS 100X 240 100m 10411.39 1.000 -
+577 K BRI 55 K 3% e 100m2 29751.49 - 1.000
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AR )
T H
B AR 49 A T R R A G
% i AL B (L) % &
+N FANEE R AR AR R A T 100m? 34900.43 1.000 -
+N FANEE R BR R B A 100m2 47622.61 - 1.000
HEEA: n
SE £ it 5 13-0090
T H HRMR A SRR &
% 7 AL B OT) # "
AR G A R 2% 100m 959563 1.000
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THERAL: m?
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W
e i RN [
Iz\_ﬂi kﬁﬂgﬁéﬂ’f{ﬂliﬁ sl J'\ﬁﬁ(}%ﬂf&ﬂ% F%E%S:E*ﬁ W
% K AL B OT) # "
IR BRAE e M AR b B B Y 3 100m? 78730.77 1.000 - -
I et SR B R Y 100m? 133442.88 - 1.000 -
+RE BRAEREIER WiE 100m? 70237.79 - - 1.000
ﬁ"%iﬁ m2
JE i Yt 5 13-0094 13-0095
Wl
T H
AR W PCRH AR W %
% i AL B (L) % =
R R Wi 100m? 68513.44 1.000 -
+EE PCRHYGH MY3E 100m? 31710.72 - 1.000
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FTOE XiERiEIiE

— BIXEE
THERAL: m?
& i i B 14-0001 | 14-0002 |  14-0003
5 H VRIE 1 RA
) —UcHRRIom | B RERmIm | P
g4 i X B (o) # i
R EEL R — Bk 10mm 100m2 2388.70 1.000 - -
AR R R T 100m? 1821.49 1.000 - 1.000
+HTEGIF REE L 100m? 905.32 1.000 - -
HREE LR WAk Lmm 100m? 237.51 - 1.000 -
+HREEL AW FE 100m2 2531.13 - - 1.000
THERAL: m?
SE il il 5 14-0004 14-0005
i g BERH st
. i}
% i L2 L NEm) # i
R RN 100m? 2098.79 1.000 -
TGS REEL I 100m? 905.32 1.000 1.000
+eIk —TEW 100m 1331.27 - 1.000
+HEIEE LIEN 100m 2481.28 - 1.000
=\ BEERE
THERAL: m?
JE il i 5 14-0006
T H U
4 R FLAL HAfr () H &
+ARE =N RN A 100m2 2780.58 1.000
=, X#imn
1.FE. BRKXHR
THERAL: m?
JE Ll i =5 14-0007 14-0008
ot B B A FAW | 77 AR FAR e
i H B (WAL T | ML TSR T
i N )
WZEE
% i BT Fr(On) % &
+XF I AR B (DIER TSR N) BUZE; Hiks (mm) 300X 300 100m2 16178.39 1.000 -
+ AR KA (BIERE N ) SUZES #4% (mm) 300 X300 100m? 11515.70 - 1.000
THERAL: m?
& Gl i 5 14-0009 |  14-0010
i H Phe QUL R AN RN (8 B AR
) i | B
% i By B (L) # i
+3E R AU AR KA1 OF A2 KR (mm) 300X 300 V1 100m? 8062.83 1.000 -
+ L R UT AR A B OF = AZ) k% (mm) 300X 300 #k4 100m? 9258.40 - 1.000
. 1 .




THEEA.
SE A % 5 14-0011 |  14-0012
5 o B U RAR e (LA
Tl \ B2
% b By PO # &
+3E i SUAL AR AR R A (A Z) #EA% (mm) 300X 300 P+ 100m? 9574.44 1.000 -
+EFC ARUT AN R (CEATY) JA% (mm) 300X 300 B4k 100m? 10822.59 - 1.000
ﬁ"%iﬁ m2
iE i Ci 5 14-0013 |  14-0014
BRATHEE S SRR E (R L
T H L))
F i \ Pk
4 i L2 HAf (L) E &
+ TS SRR E O E D) #iA% (mm) 300X 300 ~Fiii 100m? 6435.16 1.000 -
+EFL TR AR & & R E CR LA #iks (nm) 300X 300 kg 100m2 7789.31 - 1.000
ﬁ"%iﬁ m2
JE i i 5 14-0015 14-0016
AT S SR s (A
T H )
P \ [T
% Fr EX5: L em) % &
+IEFL TR & & KA B (B D) #UH (nm) 300X 300 Vi 100m? 7938.84 1.000 -
+E TSRS SR E (L) J (mm) 300 X300 Bk 100m? 9558.32 - 1.000
TEEA.
E A Y 5 14-0017 |  14-0018
5 H FARIe AN KA ST
) AR [ REAR
% i BT PO # B
HRA IR RIS CR LA A B (mm) 500X 500 100m? 5834.12 1.000 -
HAE ST AR E (EARD A H (mm) 500 X 500 100m? 6410.67 - 1.000
ﬁ"%iﬁ m2
JE bl i 5 14-0019 | 14-0020
- H A SR
. AEAE | EAH
% B Bpy L2 Em) £ B
HRE ST RS CR EAR) FH M (mm) 500X 500 100m? 5212.43 1.000 -
+HIEE SRR (EARD V2HE B (mm) 500 X500 100m? 6574.50 - 1.000
THEBEA.
E B % 5 14-0021 | 14-0022 | 14-0023
e e
. . IR o i o
: — KW | K
HoleE BB
M
% b L2 L& Em) 4 &
A GRMITR KM S PR R EEE RS Mk (mm) 500X500 | 100m? 4320.77 1.000 - -
HEE S FAR KW 100m? 3857.81 - 1.000 -
HHE S AR JeE IR 150mm Ly 100m2 2473.30 - - 1.000
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SE E S = 14-0024 14-0025
T H BRI 2 FERKINIELZ
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+HR AR EE)Z 5mm 100m2 3229.69 1.000 -
+HRAMREEZ 9mm 100m2 3728.43 1.000 -
+H B R RN E 100m2 3042.93 - 1.000
TEEA.
TE i i 5 14-0026 14-0027 14-0028
7 g TR | bk | PR
% i L s LI EM) # &=
IR RN 2 TR TR AR 100m? 12581.15 1.000 - -
IR Z TR AR 100m2 12581.15 1.000 - -
R RN Z TR R 100m? 11668.81 1.000 - -
AR RN 2 7T AR 100m2 8658.21 - 1.000 -
AR R 2 iR BE e 100m? 6268.43 - 1.000 -
+HREBRAES AR N2 PRV R e - 100m2 5178.49 - - 1.000
HRERAS IR 2 RIETE S S E 100m2 4526.37 - - 1.000
TEEA.
E E Yt 5 14-0029 14-0030
T H FE R KN 2 B RN
4 i By AT # B
+AERARMEZ LRV s - 100m2 3478.33 1.000 -
+ABERRMNEE ZfETHEAE S 100m2 2868.11 1.000 -
+HERR A 1200 X 300 100m? 10575.56 - 1.000
TEEA.
SE i Y 5 14-0031
ER 7 38 R A
Tji H P
4 K BT A (O # "
AT IR A (A EE(nm) 100 100m2 11219.35 1.000
ﬁ"%iﬁ m2
TE il i i51 14-0032
Tii H A SR
4 B Hpy B (L) A4 &
iR SRR AN 100m? 9974.43 1.000
THERAL: m?
E E Yt 5 14-0033 14-0034
i 5 R SR N 2 AN i
: WA AR
4 i By A (O # "
+HRASIIRWE RAMS 100m? 9361.67 1.000 -
+HIRA T ANFAE 100m? 13124.72 - 1.000
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THERAL: m?

E B i 5 14-0035 14-0036
- . B 20 A AR e i U T R A AR
N B
% b ¥y LR/ &) % &
I BR R RN AN e B 100m? 14219.10 1.000 -
R T RN e LR 100m2 14789.02 - 1.000
ﬁ"%iﬁ m2
JE i i 5 14-0037
—— .-
5 H ﬁA;ﬁjﬁiﬁ
% B Hpy HAfr () # &
+JIARRM A 100m? 8978.89 1.000
TEEA.
T i % 5 14-0038 | 14-0039
B 20 AR
T H HLM
HER &R

% b LA L& Em) 4 B

+HABET R B&R HER 100m? 6763.41 1.000 -
HIBRR R ELZRA AR 100m2 6852 .60 - 1.000
ﬁ"%iﬁ m2
& o El 5 14-0040 | 14-0041
T H BRG]

% i L XA LI EM) # B
HEGR R BLR AHER 100m2 6598.41 1.000 -
HEGRRM BRI ER 100m2 6678.56 - 1.000

TEEA.
TE i % 5 14-0042 \ 14-0043 | 14-0044
B 28 KA
b} H HM
HER \ TR TRIAR \ EEIR

E4 b LA L& Em) 4 =
BRI R LA B 100m2 6416.60 1.000 - -
TSR BT MR 100m? 7542.16 - 1.000 -

H B RN BT SRR 100m? 14816.22 - - 1.000
ﬁ"%iﬁ m2
5T il Gt 5 14-0045 | 14-0046 | 14-0047
N
Tji H B4R
HER T AR &JER

% b L XA L2 EM) # =
HBS R H4M &SRR 100m? 14816.22 1.000 - -
HERRRM HLR AER 100m? 6154.48 - 1.000 -
HHEG R R ELZRAL A HIAR 100m? 7330.52 - - 1.000
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THERAL: m?

E i % i51 14-0048
FEA SR A THR A
T H
R RS AR
% i AL B (L) A4 &
A SRR (BB BAERMN ) 7 BB R% (mm) 125X 125X 60 100m? 10114.31 1.000
IR ARSI R TR SR M CELFE R R E) B (nm) 125X 125X 4.5 100m? 7323.79 1.000
TEEA.
JE i i 5 14-0049 14-0050
Tii H KA A iz B AR
E4 i AL B O) A4 &
+ARKEMERAN A% AEAS (mm) 100 X 100X 55 100m? 9347.55 1.000 -
RS R A% (mm) 100X 100X 55 100m2 10914.08 - 1.000
PO, SRR HE
ﬁ"%iﬁ m2
E i Y 5 14-0051 14-0052
- . e 42 PEHE RS RN e 7 B 75 R R
‘ A
% i AL B O) A4 =
+ R A FIGRCRMN B 5 100m? 40531.00 1.000 -
+RIZFICROCRIN B 52 100m? 37651.99 - 1.000
ﬁ"%iﬁ m2
E i % 5 14-0053
T H h 2 AR E
% i AL B (On) # =
AR (FRAN1.96mX 1.96m) ARA el AR 100m2 106014.60 1.000
H. R¥EMR
1078 (&)
ﬁ"%iﬁ m2
JE i i 5 14-0054 14-0055 14-0056
) BT B
T H - B I kT
Bt | kLR
E4 i AL B (L) A4 =
+E TR B AR 100m? 16886.44 1.000 - -
+ 2P TR EA 4R AR 100m? 24011.66 - 1.000 -
+B i =RAT 100m? 38938.44 - - 1.000
5 .




2.1 EREIETL

THEEA.
JE i i =5 14-0057 14-0058
T [ 52 A A T
T H
A i To At
% i AL B OT) # "
+RME e AsE A A 100m 12522.82 1.000 -
+ R e S T A 100m 6186.90 - 1.000
THERAL: A
JE i i =5 14-0059 14-0060
T H K& 4L, (mm)300*300 K& 1. (mm)600*600
% i AL B O) # =
+Rr1E7L (nm) 300X 300 104 1023.66 1.000 -
+Rr1E7L (nm) 600X 600 104 1521.08 - 1.000




F+HE MFRIE

— ZAHFR

THERAL: m?

5 4 % B 15-0001 | 15-0002 | 15-0003 | 15-0004
RN LA T4
A TEFR1600m2 L A
T H TR
%E*AS NI,
0om2LL Y . . A= b uNs)
HET4.5m | MEE6mLL m, A
DL N ’
Im
% G HBAL | B O) # 5
+HZ LA T A AA500m2LL Y 100m2 |  4759.28 1.000 - - -
+ PR EFEA T #RINAL1600m2 LN HEE4.5mEL N 100m2| 1874.88 - 1.000 - -
+REEREA T ARINA1600m2 L HEE6mLl i 100m2| 2558.89 - - 1.000 -
+ A ZENLE AT @A AN1600m2 LA B T em, A nim  |100m2 537.01 - - - 1.000
TEEA.
E 7 % = 15-0005 15-0006
RS A R4
i A H A H R 1600m2L) 4h
M 10mEL Ay AEHE N Lm
% K LiEK ) LR e # =1
+REERFGA T #RInA1600m2LLAN HE = 10mLL 100m? 2486.16 1.000
+HRZEFA TS @RImA1600m2LLAh ARG nim 100m? 312.30 - 1.000
TEEA.
5 4 B 15-0007 | 15-0008 | 15-0009 | 15-0010
- Z Z RN A T4
Al - - - —
i #20mEA Py | 5 #30MEA Py | #5540mEA Py | A5 50m LA g
% b/ <K 72 B oo # [
+ZERFGEMTLE  GEEnLLAD 20 100m2 5629.56 1.000 - - -
+ZERFGAMTLE  GEEnLLAD 30 100m2 6809.97 - 1.000 - -
+ZZERGEWTFR GERnLIRD 40 100m? 8109.64 - - 1.000 -
+ZERFLGEWFLE  GERnLIAD 50 100m? 9289.57 - - - 1.000
THEBEA.
SE % % = 15-0011 | 15-0012 | 15-0013 | 15-0014 T 15-0015
Z NG A T4
I H L L L L o N
s Er60m L 4 1 B 70m L 4 17 80 LA 74 i 5 90m LA Py *Emllﬁomu
% K L EX 2 HH o) # 5
+ZZERAGEWTFR GERnLIAD 60 100m? 10240.52 1.000 - - - -
+ZZERGEWFR GEmnLRD 70 100m? 11325.26 - 1.000 - - -
+ZEZERGEWFR GEmnLIRD 80 100m? 11572.08 - - 1.000 - -
+ZERFGAMTLE  GEEnLLAD 90 100m2 | 12330.17 - - - 1.000 -
+ZEZERAGEHTFSR  OGEmnL) 100 | 100m? 13003.95 - - - - 1.000




THERAL: m?

5 B i 5 15-0016 | 15-0017 | 15-0018 | 15-0019 | 15-0020
ZIZ G W
T3 H MEEI110mLL | M5 120m Ll | MR 130m LA | 4 5 140m LA | 4 i 150m L
] ] ] 3] ]
% i AL | B OT) # =
+Z EEFGEMTRE  (EmnBAi) 110 | 100m? 13825.99 1.000 - - - -
+Z EEFGEMTRE (EmnBAA) 120 | 100m? 14087.08 - 1.000 - - -
+Z EEFGEMTRE  (EmnBAi) 130 | 100m? 14612.66 - - 1.000 - -
+ZEHALEMFLE  WERnLLA) 140 | 100m 14956.41 - - - 1.000 -
+Z PG EMTA  WEmnLAA) 150 | 100m? 15391.36 - - - - 1.000
THERAL: m?
5 B i 5 15-0021 | 15-0022 | 15-0023 | 15-0024 | 15-0025
ZIE G WS
T3 H M 160mLL | M5 170mLL | #E R 180m LA | 4 =5 190m LA | 4 5 200m L
] ] ] ] ]
% i AL | B OT) # =
+Z EEFGEMTRE  (WEmnLAR) 160 | 100m? 16160.61 1.000 - - - -
+Z EEFGEMTRE  (EmnBAl) 170 | 100m? 16560.86 - 1.000 - - -
+Z EEFGEMTRE  (WEmnBAy) 180 | 100m? 17466.26 - - 1.000 - -
+Z ERRGAMTL Gfmnbly) 190 |100m | 18003.50 - - - 1.000 -
+ZEEFGEMTA  EmnLAA) 200 | 100m? 18981.11 - - - - 1.000
THERAL: m?
i i 5 15-0026 |  15-0027 |  15-0028 |  15-0029
5 . WTEHTR
— \ —E \ =E \ Pz
% i XA B G # =
H P EGAMTRE — 2 100m?2 2394.09 1.000 - - -
+H T EEEMTE 2 100m? 3020.37 1.000 - - -
HUFEGEMTR =R 100m? 3647.00 1.000 - - -
Hi FESSMTE U 100m? 4337.44 1.000 - - -
Z. BIRBPFR
THERAL: m?
& i i 5 15-0030 | 15-0031 | 15-0032 |  15-0033
AP HF AL
15 H A \ XUHE
15mLA | oombly [ 3omLAA
4 i LA B G # &
ML 15mELy A 100m? 3065.03 1.000 - - -
+AMHTFEE 15mLApy WHE 100m2 3855.37 - 1.000 - -
+AMHTFEE 20mAPY RUHE 100m2 4286.81 - - 1.000 -
+AMHTFSE 30mLAPY WU 100m? 4833.74 - - - 1.000
THERAL: m?
5 i i 5 15-0034 | 15-0035 | 15-0036 |  15-0037
AP T4
15 H XUHE
sombAy [ 7ombhy [ oombAy | 110mBAA
% i AL L CM) % =
+AMHTF4E 50mLAPY RUHE 100m2 9427.97 1.000 - - -
+HNEIF4E 70mBLA XUHE 100m? 14838.08 - 1.000 - -
+AMHTFEE 90mLAPY WHE 100m? 18396.85 - - 1.000 -
+AMEFESL 120mEL XU 100m? 22852.37 - - - 1.000
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ERA. R

& kil % =5 15-0038 15-0039 15-0040
b} H BT BT BRI 42
s B fr m2 m2 m
% bl LKA B (L) b4 =
+ LT 48 100m2 906.25 1.000 - -
+E A T4 100m2 1043.94 - 1.000 -
+ PRI T 48 100m 4927.21 - - 1.000
THEA: m?
E A Y 5 15-0041 | 15-0042 15-0043 | 15-0044 15-0045
- il o JIR T 48 FEFH T 48 .
5 H EAE | wmE | wam | smw | oo
% R AL HAfr (L) # =
HEE T A Z(3.6m~5.2m) 100m2 2450.98 1.000 - - - -
HE T WINZEL.2m 100m2 462.60 - 1.000 - - -
AR TSR i 100m2 4253.58 - - 1.000 - -
+RURTRTHAE A (44D 100m2 7781.04 - - - 1.000 -
+Hk 100m2 1382.25 - - - - 1.000
THERAL: m?
i i i 5 15-0046 15-0047 | 15-0048 |  15-0049
i g St B T PRI TR
3.6m-6n | 1omilpy [ 20mblpy
E2 i <K (YA B (O # =
+HENE LR 100m2 1785.71 1.000 - - -
+PIBG TR T2 3.6m~6m 100m2 626.92 - 1.000 - -
+N SRR 42 10mEA A 100m2 664.48 - - 1.000 -
+ P BE TR A 22 20m A A 100m?2 938.23 - - - 1.000
THEA: m?
5E #i % El 15-0050 | 15-0051
i 1 ST
Wl R | KA
% bl LKA B (L) £ =
+HEI TR 5 N 4L 3.emBAy pYBE. AT 100m2 13.76 1.000 -
+AE 1 TR 5 BT 42 3.6mLLpy KA 100m2 44.03 - 1.000
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TR PR
& i i 5 15-0052 | 15-0053 | 15-0054 |  15-0055
i q FEBR T 20 15
FERE20MBL | FERESOMBLA | BREAOMULAM | FERESOMLAW
% F L:EX 2 BN OT) # =
+HBRF 2R B B (mBAYD) 20 i 4003.03 1.000 - - -
+HBAIF R (mBA) 30 Ji: 5011.47 - 1.000 - -
BRI (mBAAD) 40 i 6736.99 - - 1.000 -
+HBAIF R (mBA) 50 i 8414.01 - - - 1.000
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+RIBE ISR B (L) 60 JEE 12898.22 1.000 - -
+RBBFH A B RE (nBAA)D 80 J 17049.40 - 1.000 -
+RBE ISR S (AR 100 JiE 26779.01 - - 1.000
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+RRT B MEE (m) 6BLA 100m2 1008.38 1.000 - - -
+HURTB MR (m) RN 100m2 207.54 1.000 - -
+Z 2] ME20mEAR . JEEemLL A 100m2 1242.23 - 1.000 -
+Z R AN 100m2 264.82 - - 1.000
HEBAL: m
E i Gl 5 15-0063 |  15-0064 |  15-0065 |  15-0066
" ; feEAIg
Wimoomblpy | imasombld | #EEs4OmblAy | HmESOmLARY
4 i AL LA IEm) # &
R (m) 20LAK 100m2 2796.01 1.000 - - -
R (m) 30LAM 100m? 3313.87 - 1.000 - -
= () 40LLK 100m?2 3731.75 - - 1.000 -
R (m) 50k 100m? 4056.88 - - - 1.000
ﬁ"%iﬁ m2
5E i % 5 15-0067 |  15-0068 |  15-0069 |  15-0070
. (st
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HErE7omLhPY | Rio0mAry | HEREIIOMBARY | Hii120mhpy
% i LD A CT) # s
HET (m) 70LLR 100m2 4447.80 1.000 - - -
HET (m) 90LAR 100m2 4906.73 - 1.000 - -
+HEE (m)  110BLA 100m2 5703.18 - - 1.000 -
HfEE (m)  120BLA 100m2 5832.30 - - - 1.000
HEBAL: m
E i Gl 5 15-0071 |  15-0072 |  15-0073 |  15-0074
" ; feEAIL
WrmisomAsy | HEmildombAly | MEEELSOmLLA | M L60mLA
4 S AL B On) # &
R (M) 130LL 100m? 6208.54 1.000 - - -
R (M) 140LL4 100m? 6391.62 - 1.000 - -
R (M) 150104 100m? 6632.47 - - 1.000 -
R (M) 160144 100m? 6998.65 - - - 1.000
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HE® (m)  170BAK 100m2 7419.58 1.000 - - -
+HEE (m) 180BAK 100m? 7849.59 - 1.000 - -
+HHEE (m)  190LLA 100m? 8221.56 - - 1.000 -
+HHEE (m)  200LL A 100m2 8677.43 - - - 1.000
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HNE =2 100m2 4144 .43 - - 1.000 - -
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+HET (mBAPY) 40 100m2 4642.52 - 1.000 - -
+HET (mBApY) 50 100m2 5214.91 - - 1.000 -
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R m?
5 i % el 16-0014 | 16-0015 | 16-0016 | 16-0017 | 16-0018
- . 20m LA -3 =0k F HLAE T
fii110mblpy | dsL2onbAp | HEE130mblyy | dinaonidpy | Hsa1soml
% N =Kiva i em) # s
+HEE (nBApg) 110 100m2 6948.58 1.000 - - - -
+HEE (nBAR9) 120 100m2 7203.35 - 1.000 - - -
+HiEE (mBAp9) 130 100m2 7459.70 - - 1.000 - -
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+HiEE (nBARY) 160 100m2 8492.81 1.000 - - - -
+HEE (nBApg) 170 100m2 8918.30 - 1.000 - - -
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+HEE (nBARY) 220 100m2 13798.33 1.000 - - - -
+HiEE (mBAPY) 240 100m2 14463.72 - 1.000 - - -
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+HER (m) 90LL 100m2 5752.30 - - - 1.000
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+EEBIME S (mLLPY) 80 100m? 8290.26 - - 1.000
ﬁ"%iﬁ m2
E # Y 5 17-0007 \ 17-0008 \ 17-0009
T 2 B R ELE Y b1 N 2%
T H 25-27/2 28-30/2 31-33/2
v (9omBL ) 5T (LOOMEAA) M (L10mEAA)
F4 i Hpy HAfr (L) # =
+EEFYIMES (LD 90 100m? 9526.51 1.000 - -
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